
start

load in 
all the 
stuff

for 
maxTotalIter

reset nAccepted,  
nAccepted_burn, E, 
and Esquared for 
each MC chain.

for noChains

propose 
new 

sequence 
move for 
chain k

for noChains

Has chain k 
accepted enough 
(nAccepted_burn) 

jumps?

Read in ploglig_c{k}-i{j}.log, 
which is the ploplig file for the 
kth chain on its jth equilibrium 

iteration.

Test 
hardconstraint 
for chain k.

Did chain k obey 
the hard 

constraint?

Write in MCSALOG what 
the geometry was the 
distances were that 
led to the violation.

Using 
affinity 
scoring?

for noChains

Do a bunch of GLIDE-
related job submission 

stuff

if hardconstraint was 
violated, or not 

enough burned samples, 
or not using affinity 

scoring

Check completion of grid 
generation job submitted 

for chain k.

for noChains

if hardconstraint was 
violated, or dockFail 
count is exceeded, or 

not enough burned 
samples

try to remove 
lig_c{k}-i{j}.out.pdb

Write “no such file” to 
MCSALog.

Copy lig_c{k}-i{j-1}.out.pdb
to lig_c{k}-i{j}.out.pdb

Delete lig_c{k}-i{j-1}.out.pdb

file_remove(k,j,MCSALOG)

(for loop end)

(for loop end)

Keep checking for 
dock_c{k}-i{j}-.log until 

it appears.

Using affinity 
scoring?

Compute new function 
value for chain k.

Check that fval is real.

Metropolis criterion

Do we accept the 
new move for 
chain k?

Update current state, 
state trajectory, energy, 

energy trajectory, 
affinity trajectory

Do various operations to 
save outputs to 

disk/pickle dumps.

Keep old state. New 
sampled energy = old 

energy.

remove and cp various 
files. Write “rejected” 

to MCSALOG.

Update best fval and best 
state vector found so 

far.

Delete a bunch of excess 
files.

(for loop end)

MCSALOG.flush()
dockFail = []

burnMore = False

for noChains

(for loop end)

if nAccepted[k] == 0
or not (some 

complicated expression 
on line 629) == 0

burnMore = True

(for loop end)

if burnMore == True and 
not sampleMore

while j < 
maxEquIter

j = -1
nonrealBottleneck = 0
sampleMore = False

j = j + 1

elif not sampleMore

pickle dump E_traj to 
E_traj.p

Compute scale reduction 
factor “r” statistic 

using 
convergence.scaleReduc().

Append ro to 
reducFactors.

Write r to MCSALOG.

if r < rmax

make directory “baseName” 
if able.

Use baseName directory if 
it exists.

Open the “sequence seeds” 
text file.

for each chain, write 
some output files.

write all state vectors 
to SEQSEEDS.

Write “G-R convergence 
not satisfied, continuing 

burn” to MCSALOG

nAccepted_burn = 
copy.deepcopy(nAccepted)

sampleMore = False

for noChains

if r < rmax

if 
nAccepted[k] 

– 
nAccepted_bur

n < 
sampleSize

if not 
sampleMore

sampleMore = True

(for loop end)

Record E_traj_sample, 
x_traj_sample, and 
affinity_traj_sample

For each chain write an output 
file.

Write to MCSALOG “Full sample 
collected for this beta. Moving 

to next temperature.”

break out of the G-R loop

Write update to MCSALOG and 
flush MCSALOG.

nAccepted[k] += 1

(end while loop)

for noChains

Compute acceptance rate.
Compute normalized heat capacity 

(Cv/k).

(end for loop)

Write loads of data 
about the 

optimization to 
mcsad_date

Converged?

Close MCSALOG
Change dir to cwd.

Return mcsad_data

mcsad_protein.py
4-16-2012


	Slide 1

